d’c/dp_dy [pb/GeV]

Ratio to CMS

T

H

H
o o <
o O o

I IIIIHYI I IIIIWI [T

o

[EEY

0.5

7000 GeV pp Jets
E 1 I I I

Jet P, (NSD, 2.0 < |y| < 2.5)

m CMS -
—A— Pythia 6.428 370 [
Pythia 6.428 default
—a— Pythia 8.308 default u

,.:l TTT]TTTI IIII]YI IIIIIIVI IIIIIIII| IIIIIHYI IIIIIHYI IIIIIWI IIIIII|Y| IIIIIHYI IIIIIHYI IIIIIWI IIIIII|Y| [T

Ll I|IIII__IIIHI| IIIIIlIJI IIIIIIII| IIIIIHII IIIIIHII IIIIIlIJI IIIIII\II IIIIIHII IIIIIHII IIIIIlIJI IIIIII\II IIIIIHII IIIIIHII IIIIIlIJI IIIIIW‘]

Rivet 3.1.10, = 3.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


